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13 (a) Sketch the graph of y = sinx for 0° < x < 360°.
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(b) The graph of y = cos (x — 30) for 0° < x < 360° crosses the x-axis in two places.

Write down the values of x where this occurs.
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16 (a) Wrie ' ~6x-+20 in the form (x— ) + b
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17 Describe fully the graph which has the equation x° + 2 =9.
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19 (@) Sketch the graph of y = (x—2F 3.
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7 Hereisthe graphof y=x-7x+10 forvalues of xfrom Oto 7
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7 (a)  Writedownthe roolsof 2 7x+10=0
[2 marks]

7 (b)  Write down the x-coordinate of the turning point of the curve.
11 mark]
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21 (a)  Circle the point thatis on the graph of =
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22

Oneoftheseisthe graph of y=1+sinx for 0°<x<360°

Circle the letter above the correct graph.
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2 /Aand B are points on a curve.
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24 () Work out the instantaneous rate of change of y with respect to.x at point A.
[2 marks]
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24 (b)  The average rate of change of y with respect 1o x between points A and 81is worked out.

Which statementis correct?
Tick one box.
11 mark]
Itis positive.
Itis zero.
Itis negative.
‘You cannot tell it s positve or negative.
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23

Here is a sketch of the curve  y=2"

0

On the axes above, sketch the curve = 3°
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Lewis wans fo draw the graph  y =+ for values of x from 2102
Here i i graph.
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25 Here is a sketch of the graph of  y=cosx for values of x from 0° to 360"
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25 (a)  cosx=cos60°

Work out the value of x when 90° < x < 360°
11 mark]

25 (B)  cosx=-cos 60"

Work outthe value of x when 180° < x < 360°
11 mark]
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Nick sketches the graph of 3= 05" for x>0
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14 mark
a B
yT K
N +
o * ¢ ’
o D
y g
- - o
2\





image21.png
s directly proportional to x.

Which graph shows this?
Circle the correct letter.
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16 These graphs show four different proportionality rlationships berween y and x,

. N
o % o] %
Graph A Graph 8
0 »
g % 7 %
Graph© Graph D
Mt each graph with  staement n the tabe below:
Proportonaliy relationship

s dircty proportional tx
isinersely proportonal to
s proportions 1o the square of x

s inversly proportional 0 the sguare ofx

Graph ltter

(Total for Question 16 is 2 marks)





image5.png
T—, g E
PR P

N
o

Each cquation i the bl reprsentsoneofhe grphs A o F
Wt the e of cac gaph i thecorctpsc i the bl

Equaton Graph

(Total 3 marks)





